NCERT Solution

g - 11
I« RASAT A drerar T
CICE:H

3cd¥1: S I Ugell dieddr fhed & AU & flT O 9T ey 39 9hR & -
"q gl Folla §, A o | &, AT-HAAT el I &, 3Sgeek Hal gidre foier
gl 31T, 3R diadd, STd #d ¢@r|”
UrS & YR T "I 3RT H Fol FAelhy 78 dgt T AT 1A T ¢ I

3ca2: hoAsR HERR UA. ST & 1929 # glelgs & Us dleldl fhed 'l dlec' 3@
AR s 39 7T # Sy A s fT sToT Sl 57 er &1 IMUR
3oglel URAT WHT & Th aih T Alesh & form|

3ccai3: a5l &1 fhed & AT germ a1 & 3¢ 3¢ dlell & WA gt A e
39T & 9T & fIT 3ol HohedAT X fem| fagel A+ gar Sfid 7w 3R oIk
HI ggell Steldl e & aATge o |

3ccdi4: Ugell Farh thed & AATA-fAErw 3ERR @l Jedfe & Tedid a¥ @ gl W
FFATTAT foRm a7 3R 3¢ "WRAT Hare oAl &1 [Oar &gl =1 ar 3sgia
39 i 9 HET AT, - "HH Sl 3T WA o AT WA A8t g1 Ao @ a2 &
T 3vel RE} &1 S erere fear B1" 58 9HeT H Tl A gU o@sd o
3ERT Fr AT a1 B

973 & 31l

3ca1: #eh AT o Sioler W o 9§ R GRAcHT gul Sl fthedt defa & HRoT
FfATant ger-fo@r g I g I, Fifh 39 30 darg oY dee gsa I
gt WX Y AR T IHIT IS 9| ATTR-ATAR & cllhidT gl F
IR IFATFIT A FU oo TAT 3AF FUST H Ao FA 9| TT AR
ST ATETH & Th & fherm & AT g7 o7 & Tohellhl Tfoe & o 9gd aR
aRace gl

Feav2: oAl & Sa ATASAT T @R $r 3marer & ST § O 38§ 59 Fed ol




NCERT Solution

wel-hell fhodl A 3marel dur JAATT & Hg W H A 37 SIar § ik
39 e gt 3R JAPTT T gtk Y diele @ dAfa AT Jgr ardr ar ey
daadiehT feeFehd & HRUT & 1T gl

AT Y 91T

3ca¥l: e - 3T Tl U

() et - wfeer

(i) IRAR - FGRAR

(iii) fo=rT - @faag

(iv) faT - gfay

(v) 9T - "ol

(vi) HTeT - HFHATS
Icdl2:

HT Usq, ELRC) SR
21 3t 3ftae
SIS 317 TR
7 El Bt

IR’ q HIRAR

BIRED e TS
HIUT 3T SATAIOT
TR 39 ITHER
3T 3 33ATeT
I9A Qfl_,' Qfl;«’ll'?l'
EaL) aH HHBIOT
HH ad dchd
i ¥ |
aer o faaer
9ohr K19 AYgYhr




NCERT Solution

Hel s 9 T ese
T o TRT
LG} & JTH
chlell ef Tl
3 3 GES
ol 3frac HTdC
37er - 379U

I Sl AT
olef of STolat
B Sirar RSTET
ga 3 Tars

7ol qd CITAISH

IBETI 31Ige ﬁm

ey aar IEREGEI

THSb eI THbTIT

AR R R






